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A square pyramid has a height Al ala Jshg 8 cm Acll)) 2up ap
of 8 cm and a base with a side .a)l paa 224l .9 cm
length of 9 cm. Find the volume of

the pyramid.

O 324cm?

o 162 cm?

O 216 cm?

O 648 cm?
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Find the volume of the cylinder. Adlghu) aas s

7m

16m

O 322 m?d

O 784mm?3

O 49mm3

O 112mm3



18 cm

24 cm

14 cm

16 cm

Two square pyramids are similar. af el aha Job . Olgaldida Glasa Glasp
The sides of the bases are 4 cm and %) a ¢l 5206 alia Jgh Lain 4 cm G gd)
12 cm. The height of the smaller 1.6 cm sual axgd gy Aw .12 cm
pyramid is 6 cm. Find the height of oSl apgl) el

the larger pyramid.
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Find the volume of the cone. Jag el aas sl

o 2lmm?

O 42mm3

O 63mm3

O 7mm?3



O h=7.5m
O h=75m
O h=0.75m
o h—zm

T 64

Olouwuzall aylins

The two containers are similar h gl gl . oligalita il gland Claglad)
cylinders. Find the height h of the Byaal) daglal) (‘,a

smaller container.

V=27t md V=64rmd
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A quadrilateral has a perimeter of 12
and all of the side lengths are odd
integers. What is the probability that

the quadrilateral is a rhombus?

Jlaiz)l

> Jlshly 12 (gglow Sy IS Jana
OsSe of Jaial b duad dasaua sl sl
el Sl (il



O 3x4x5x%x2

O 3!x4!x5!x2!

O 5P1

O 3+4+5+2

Joa bl

In a certain class Student Council 3 L cha Db alad) allas) ‘_,a i
election, there are 3 people running o galidl 45 &Sl cuaia o Gali]
for secretary, 4 people running for uais Ao Galdd] 5 g G gaial) bl caala
treasurer, 5 people running for vice .Liall G cuaia Ao Gladdiy guad)ll QiU
president, and two people running LAlaiaal) el aae .\;JT
for class president. Find the

number of possible outcomes.
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In a game, the spinner is spun and a
coin is tossed. What is the
probability of getting a prime number
on the spinner and the coin landing

on tails?

daiuadl SlasVl

g pasall gl g o clal) (gaaf A
28 o Jpaal) Jlada) Lo dsisna ddes 4
& Aisnal) dadadl) Ja iy Gl Ao Al
PR




16
20

13
20

10
20

Find the probability of selecting a
number at random from integers 1 to
20 and getting an even humber or a

number divisible by 3.

db g jirall SVLISVI

J8) e Algde 2o Laa) Jlaia) aa
e Ao Jgaally 20 ) 1 e dasaal)
3 e daudll 8 2 Jigq”
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Lamia has the letter cards A, H, M,
and T in a bag. If she selects a
permutation of the cards at random,
what is the probability that she will
spell the word “MATH”?

Jo Wl g SYVlai>I

ATsMygH A Cigall clila bl s
JS cillad) o3 Jaald cylial 13 L Asda
sl plan LiaY) 06 ol Juia) b ¢ gl
¢“MATH”



